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General Instructions to Candidates :
e There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.
o Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
¢ Read questions carefully before answering.
¢ Read the instructions carefully.
¢ Calculations, figures and graphs should be shown in the answer sheet itself.
e Malayalam version of the questions is also provided.
¢ Give equations wherever necessary.
e Electronic devices except non-programmable calculators are not allowed in the
Examination Hall. .
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PART-A (Scores : 40)

ACCOUNTING
I..  Answer all questions from 1 to 6. Each carries 1 score. ' 6x1=6)
1. Annual subscription from the members of a club is treated as :
(a) Capital Receipt (b) Capital Payment

(¢) Revenue Receipt - (d)° Revenue Payment

2. The account which shows distribution of profit among partners in a business firm is
(a): Profit & Loss Account (b) Profit & Loss Appropriation Account
(c) Partner’s Capital Account  (d) Revaluation Account

3. On admission of a new partner, the unrecorded assets are credited to
account.

4.  Atthe time of retirement of a partner, the accumulated losses are to be shared in :
(a) Old Ratio (b) New Ratio
(¢) Gaining Ratio (d) Capital Ratio

5. Choose the item to be credited to ‘Realisation Account’ :
(a) Payment to creditors (b) Realisation expenses
(c) Bills receivables (d) Provision for doubtful debts

6. Pass the journal entry for settlement of any unrecorded liability on dissolution of a firm.

IL  Answer any 5 questions from 7 to 12, each carries 2 scores : (5x2=10)
7. List out any four main sources of income for not-for-profit organisations.

8.  The Receipts and Payments Account of a school for the year ended 31-03-2019 shows
payment for stationery as ¥ 20,000. The following additional information also

available :
Details 01-04-2018 | 31-03-2019
y (L) Q)
Stock of Stationery 2,000 1,000
Creditors for Stationery 6,000 - 4,000
Calculate the amount of stationery expenses to be debited to Income and Expenditure
Account during the period.
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PART - A ; (Scores : 40)
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10.

11.

12.

1118
13.

14.

15.

State the general provisions in the Partnership Act, regarding the following items, in the
absence of an agreement between partners in a firm : '

(a) Profit sharing ratio

(b) - Interest on advances

Pavithran and Reshma, who are partners in a firm and their capital accounts showed the
balance of ¥ 4,00,000 and ¥ 3,00,000 respectively. On 01-04-2018. Pavithran brought
in ¥ 2,00,000 as additional capital on 01-08-2018 and Reshma brought in further capital
of ¥ 3,00,000 on 01-10-2018. The partnership deed provides for interest on capital @
6% p.a. Calculate the interest on capital provided to both partners, assuming that the
accounts are closed on 31 March every year.

List out any four circumstances in which goodwill of a partnership firm should be
valued.

Write the order in which the amounts realized through the sale of assets to be applied,

* on dissolution of a partnership firm.

Answer any 2 questions from 13 to 15, each carries 3 scores : ‘ 2x3=6)

Anu and Beena share profits and losses in the ratio of 3 : 2. They admit Dani as new
partner for 1/6 share in profits, with a guarantee of 40,000 as yearly minimum share
in profits. The net profit of the firm for the year ending 31-03-2019 was ¥ 1,20,000.
The partnership deed is silent about the interest on capital, remuneration to partners and
interest on drawings.

Prepare the Profit and Loss Appropriation Account.

Anil and Suku are [;artners sharing profits in the ratio of 3 : 2. They admit Hari as a
new partner for 1/5 share in future profits of the firm. Calculate the new profit sharing
ratio of the partners.

Distinguish between ‘reconstitution of a firm" and “dissolution of a firm’. in accounting
point of view. (write any three differences)
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IV. Answer any 2 questions from 16 to 18, ¢ each carries 5 scores: 2x5=10)

16. Jayesh, Jobish and Joseph were partners sharing profits in the ratio of 3 :2: 1. Jobish
decided to retire from the firm as he got employment in government service. At the
time of retirement, the partners decided to value goodwill based on 3 years purchase of
the super profits of the business. The books of business showed that the capital
employed in the firm was Z 10,00,000. The profits of last five years were :

17.

18.

SME-50

Year R

2015-16 1,00,000

2014-15 | 80,000

201617 1,10,000
2017-18 1,40,000
2018-19 1,70,000

The normal rate of return of the business is 10% per annum.

@

Calculate the value of firm’s goodwill.

(by Pass Journal entries for the treatment of goodwill, assuming that goodwill is

raised at its full value and written off immediately.

Abdulla, Binoy and Chandran are partners in a firm. Binoy retires from the firm due to
ill-health. On his retirement % 90,000 due to him from the firm. The continuing partners '
promise to pay him i in four yearly instalments plus interest @ 12% p.a., on the unpmd
balance.

Prepare Binoy’s Loan Account, ti}l the full amount is paid off.

Agnes, Beena and Cini are equal partners in a firm. They decided to dissolve the
_business due to heavy loss Pass journal entries for the followmg events took place on

dis:
(@
(1?)
(©)
@
(e)

solution : _
Assets having book value of € 86,000 realised ¥ 63,000.
Realisation expenses paid by the firm ¥ 3,000.
The unrecorded furniture was takenover by Agnes for ¥ 3,500.
Creditors of T 20,000 were paid 5% less.
Unrecorded electricit_y bill of T 2,500 paid off.
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V. Answer any 1 question from 19 and 20, carries 8 scores. : ' (1x8=8)
'19. A cultural club has the following receipts and payments of cash during the year

2018-19:
Receipts 4
Opening cash balance 30,800
Subscriptions’ 50,200
Donations 32,000
‘Endowment Fund 60,000
Legacies 24,000
Interest on investments 3,800
Sale of old newspaper 1,300
Total 2,02,100
Payments L4
Furniture 23,000
Investments 55,000
Charities A 60,000
Salaries 11,800
Rent 5,000
Insurance ' 4,800
Closing cash balance 42,500
Total : 2,02,100

The following additional information are also available :
(@) The assets and liabilities of the club as on 01-04-2018 were :

Furniture — ¥ 85,000

Investments — T 1,45,000

Accrued subscription — ¥ 2,000

Rent outstanding — ¥ 3,000
(b) It was decided to treat 50% of the amount received on account of legacies and

donations as income. o

(c) Expenses outstanding on 31-03-2019 were :

Rent - ¥ 2,000

" Salaries — ¥ 3,200

(d) Subscription unpaid during the year 2018-19 were ¥ 4,800.
Prepare the Income and Expenditure Account for the year ended 31-03-2019 and the
Balance Sheet as on that date. :

SME-50 , '8
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‘20. Shija and Sundas are equal partners of a textile shop. Their financial positidn as on
31-03-2019 was as follows : ’

Assets L4
Cash at bank : 50,000
Debtors ' ] 60,000
Stock - _ ' 40,000
Buildings : 1,50,000
Furniture : 1,00,000

Total 4,00,000

Liabilities T |

Creditors 60,000
Bills Payable 10,000 |
Capital of Shija- 1,80,000
Capital of Sundas 1,50,000

Total 4,00,000

On 01-04-2019, Shihab was admitted as a new. partner for 1/3 share of profit. The
following terms were also agreed up on by the partners :

(a) Shihab brought in ¥ 1,50,000 as his capital and ¥ 50,000 as his share of goodwill
in cash. ’

(b)' Stock to be revalued at ¥ 30,000 and Buildings at ¥ 2,00,000.
(¢) A provision for doubtful debts is to be created at 5% on the debtors.
(d) The unrecorded investment of ¥ 3,000 to be taken into account.

Prepare the Revaluation Account, Partner’s Capital Account' and the Balance Sheet
after admission of the new partner. :
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_ PART -B (Scores : 20)
COMPUTERISED ACCOUNTING

~ VL. Answer all questions from 21 to 25, each carries 1 score. Bx1=9%)

21. The sub-system of accounting information system, which deals with payment of salary
and wages to employees is :

(@) Costing Sub-System (b) Final Accounts Sub-System
(c) Payroll Accounting Sub-System  (d) Tax Accounting Sub-System

22. A spreadsheet file is called
(a) Worksheet ) Workbook
(¢) Range : (d) Pop-up menu

23. In the syntax of ‘PMT’ function, ‘Nper’ indicates :
(a) Interestrate . (b) Loan amount

(¢) Number of repayment periods (d) Date of periodic payment

24. The system generated ledger accounts in GNU Khata include :

(a) Closing stock ' (b) Opening stock
(c) Stock at the beginning (d) Allof these
25. is used to retrieve information from a data base.
(a) Tables _ (b) - Queries
(¢) Forms (d) Reports
VII. Answer any.2 questions from 26 to 28, each carries 2 scores : 2x2=4)

26. Identify the types of codes used in the following cases :
(a) : CA’ for Current Assets
¢CL’ for Current Liabilities
(b) 001 to 099 for Televisions
100 to 199 for Washing Machines

SME-50 12
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21.

22.

23.

24.

- 25,

VIL

26.

PART-B . (Scores : 20)
SRS MUWHOI® GRGVMEA.wy

21 ay>ad 25 apow)ss GO C210B4BURBENo DTNOHAL)):. 1 cqpad afleo.(5 x 1 =5) _
@RSOVIELY aflue avmIBIL el PO QaIVMIBE6M aINeeodas
RAUSANo, el Me)MENR] MINWOQS® ?

(@  esvmflen Rairu@usowo

(0)  AUBBOIY BHEMBNBROS DalTVMIBGIDO

© cumm BMEOVIELW PalrvMIGIDO

(@) sl AReavaElow) DairvmIBIW

80} Ma Wy aooellom i oo aflgleaam).

(a) mﬁm"nﬁlg" (b)  des miss’

© ey . (@)  Ganqj@Enaj oam)

‘alla@oS” )M  aDBoate QNG eISHOIeE ‘a)Ballp@Rd’  agasiom
M)aflafloeyam) ? : ‘

(@) alelvaloss (b) ARV )OS @)

(c) @rswesnne BOLIVBANBBOS af)gPo (d)  asemasal’ ofloailems moo

o) auoemws, cwangoaIRd ddmie  esiavmRd @ROODENE) S G3
DRI B ? '

(a GROMVlow) MIGQOWE" (®)  &0qjeflowy avegoss’

(c) magoes” @eq’ @l enfuflafleon” ) fDQIOWE00

80} wdagossmiaiad aflan) aflaioemdd afleresiaymafiay DaleROUdleman).

(@) © esenig)ad b @NeB

(©) canIMBRB @ o Cajodgeud

26 a3 28 aipowes Ganayglal agomalen. 2 afROTAM DONONAL)N .
2 eapod aflo. : ) - (2x2=4)
m@Baloldemm 262200 g]®d 2016l flBlenmMmM® A  ®0o
GBSO HOTROD) :
@ ‘CA’ pomyeoel @ryavoie-ud

‘CL’ (a0a01081 nIowenid
(b) 001 M3 099 QIO OsEAAaUMmED

100 ;@3 199 Q160 Aaslow” OBaUIm)e:03

SME-50 13 - PRTO.



27,

Name any four ‘Date and Time Functions’ available in LibreOffice Calc.

28. Give the path to perform the following in GNU Khata :
(a) View a ledger already created
(b) View the Balance Sheet
VIIIL. Answer any 2 questions from 29 to 31, each carries 3 scores : (2x3=6)
29. Briefly explain the procedure for the following spread-sheet operations in LibreOffice
Calc:
(@) Add a new worksheet
(b) Delete a worksheet
(c) Rename'a worksheet
30. (a) Name the finance function used for calculating the amount of annual depreciation
under the written down value method.
(b) Give the syntax of this function.
(c) Briefly explain the parameters used in the syntax of this function.
31.. Mr. Sukumar wants to move the title of a chart to a new location. Help him by
explaining the required procedure.
IX. Answer any 1 question from 32 and 33, carries 5" scores : 1x5=5)
32. - Explain any ‘5’ voucher types used in GNU Khata, by giving the relevant short-cut
keys.
33. Describe briefly the steps for creating and deleting ‘relationships’ in LibreOffice Base.
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